

ABC Bid Data

CONCORD-CHICHESTER

43828

X-A005(204)

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN:	CONCORD-CHICHESTER 43828 X-A005(204) September 22, 2022,	Awarded To:	NORTHEAST TRAFFIC CONTROL SERVICES INC PO BOX 946 PLYMOUTH, MA 02360		
SCOPE OF WORK: COMPLETION DATE: LOCATION:	Replacement and upgrade of signs and supports due to condition and for improved compliance. October 20, 2023 Merrimack, District 5	Amount: Award Date:	\$477,790.53	Certified by:	PETER.E.STAMNAS Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
NORTHEAST TRAFFIC CONTROL SERVICES INC PO BOX 946, PLYMOUTH MA 02360	\$477,790.53	A
K5 CORPORATION 9 ROCKVIEW WAY, ROCKLAND MA 02370	\$529,345.45	В
ROADSAFE TRAFFIC SYSTEMS INC 55 Bodwell Street, AVON MA 02322	\$662,111.38	С



ABC Bid Data

CONCORD-CHICHESTER

X-A005(204)

					F	'S&E	NORTHEAST TRAFFIC CONTROL SERVICES INC PO BOX 946 PLYMOUTH, MA 02360		K5 CORPORATION 9 ROCKVIEW WAY ROCKLAND, MA 02370	
Item N	No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

	Totals:				\$373,831.45		\$477,790.53	\$529,345.45	
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
692.	MOBILIZATION	U	1.00	\$7,500.00	\$7,500.00	\$22,500.00	\$22,500.00	\$10,000.00	\$10,000.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	75.00	\$8.00	\$600.00	\$40.00	\$3,000.00	\$40.00	\$3,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$7,000.00	\$7,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
615.30301	REMOVING BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	4.00	\$4,000.00	\$16,000.00	\$5,000.00	\$20,000.00	\$3,000.00	\$12,000.00
615.10301	REMOVING FULL TRAFFIC SIGN STRUCTURE	U	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
615.0601	TRAFFIC SIGN TYPE CC	SF	288.01	\$20.00	\$5,760.20	\$15.00	\$4,320.15	\$20.00	\$5,760.20
615.0501	TRAFFIC SIGN TYPE BB	SF	25.00	\$35.00	\$875.00	\$24.00	\$600.00	\$40.00	\$1,000.00
615.04501	TRAFFIC SIGN TYPE AA (GROUND MOUNTED)	SF	2,029.25	\$35.00	\$71,023.75	\$27.50	\$55,804.38	\$28.00	\$56,819.00
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	43.00	\$500.00	\$21,500.00	\$250.00	\$10,750.00	\$400.00	\$17,200.00
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	93.00	\$25.00	\$2,325.00	\$15.00	\$1,395.00	\$75.00	\$6,975.00
615.03201	TRAFFIC SIGN TYPE C, BREAKAWAY MOUNTS	SF	556.75	\$150.00	\$83,512.50	\$265.00	\$147,538.75	\$250.00	\$139,187.50
615.0301	TRAFFIC SIGN TYPE C	SF	187.25	\$50.00	\$9,362.50	\$155.00	\$29,023.75	\$175.00	\$32,768.75
615.023	REMOVING TRAFFIC SIGN TYPE B	U	12.00	\$250.00	\$3,000.00	\$250.00	\$3,000.00	\$100.00	\$1,200.00
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	291.25	\$150.00	\$43,687.50	\$185.00	\$53,881.25	\$225.00	\$65,531.25
615.0201	TRAFFIC SIGN TYPE B	SF	16.25	\$85.00	\$1,381.25	\$25.00	\$406.25	\$150.00	\$2,437.50
615.013	REMOVING TRAFFIC SIGN TYPE A	U	5.00	\$1,500.00	\$7,500.00	\$1,500.00	\$7,500.00	\$1,450.00	\$7,250.00
615.01201	TRAFFIC SIGN TYPE A, BREAKAWAY MOUNTS	SF	388.50	\$90.00	\$34,965.00	\$100.00	\$38,850.00	\$135.00	\$52,447.50
615.0101	TRAFFIC SIGN TYPE A	SF	306.75	\$65.00	\$19,938.75	\$92.00	\$28,221.00	\$225.00	\$69,018.75
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	10.00	\$90.00	\$900.00	\$100.00	\$1,000.00	\$175.00	\$1,750.00
201.701	SELECTIVE CLEARING AND THINNING	Α	1.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00

ABC Bid Data



CONCORD-CHICHESTER

43828

X-A005(204)

				PS&E		PS&E NORTHEAST TRAFFIC CONTROL SERVICES INC PO BOX 946 PLYMOUTH, MA 02360		K5 CORPORATION 9 ROCKVIEW WAY ROCKLAND, MA 02370	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
			Alt. Totals:						
		Totals:		\$373,831.45		\$477,790.53		\$529,345.4	





X-A005(204)

					F	PS&E	55 Bod	NFIC SYSTEMS INC well Street MA 02322		
Item	n No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

	Totals:				\$373,831.45		\$662,111.38	
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
692.	MOBILIZATION	U	1.00	\$7,500.00	\$7,500.00	\$28,340.00	\$28,340.00	
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	75.00	\$8.00	\$600.00	\$88.69	\$6,651.75	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$7,000.00	\$7,000.00	\$82,091.80	\$82,091.80	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	
615.30301	REMOVING BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	4.00	\$4,000.00	\$16,000.00	\$3,475.15	\$13,900.60	
615.10301	REMOVING FULL TRAFFIC SIGN STRUCTURE	U	1.00	\$10,000.00	\$10,000.00	\$19,875.86	\$19,875.86	
615.0601	TRAFFIC SIGN TYPE CC	SF	288.01	\$20.00	\$5,760.20	\$7.80	\$2,246.48	
615.0501	TRAFFIC SIGN TYPE BB	SF	25.00	\$35.00	\$875.00	\$13.00	\$325.00	
615.04501	TRAFFIC SIGN TYPE AA (GROUND MOUNTED)	SF	2,029.25	\$35.00	\$71,023.75	\$30.30	\$61,486.28	
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	43.00	\$500.00	\$21,500.00	\$325.47	\$13,995.21	
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	93.00	\$25.00	\$2,325.00	\$388.76	\$36,154.68	
615.03201	TRAFFIC SIGN TYPE C, BREAKAWAY MOUNTS	SF	556.75	\$150.00	\$83,512.50	\$322.34	\$179,462.80	
615.0301	TRAFFIC SIGN TYPE C	SF	187.25	\$50.00	\$9,362.50	\$228.57	\$42,799.73	
615.023	REMOVING TRAFFIC SIGN TYPE B	U	12.00	\$250.00	\$3,000.00	\$777.51	\$9,330.12	
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	291.25	\$150.00	\$43,687.50	\$196.30	\$57,172.38	
615.0201	TRAFFIC SIGN TYPE B	SF	16.25	\$85.00	\$1,381.25	\$136.77	\$2,222.51	
615.013	REMOVING TRAFFIC SIGN TYPE A	U	5.00	\$1,500.00	\$7,500.00	\$933.02	\$4,665.10	
615.01201	TRAFFIC SIGN TYPE A, BREAKAWAY MOUNTS	SF	388.50	\$90.00	\$34,965.00	\$107.82	\$41,888.07	
615.0101	TRAFFIC SIGN TYPE A	SF	306.75	\$65.00	\$19,938.75	\$111.53	\$34,211.83	
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	10.00	\$90.00	\$900.00	\$81.69	\$816.90	
201.701	SELECTIVE CLEARING AND THINNING	Α	1.00	\$5,000.00	\$5,000.00	\$2,474.28	\$2,474.28	





X-A005(204)

				PS&E		ROADSAFE TRAFFIC SYSTEMS INC 55 Bodwell Street Avon, MA 02322			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
			Alt. Totals:						
	Totals:		\$373,831.45		\$662,111.38				



43828

X-A005(204)

		I		A-Bide	der	PS8	λE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
201.701	SELECTIVE CLEARING AND THINNING	A	1.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	(\$2,000.00)
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	10.00	\$100.00	\$1,000.00	\$90.00	\$900.00	\$100.00
615.0101	TRAFFIC SIGN TYPE A	SF	306.75	\$92.00	\$28,221.00	\$65.00	\$19,938.75	\$8,282.25
615.01201	TRAFFIC SIGN TYPE A, BREAKAWAY MOUNTS	SF	388.50	\$100.00	\$38,850.00	\$90.00	\$34,965.00	\$3,885.00
615.013	REMOVING TRAFFIC SIGN TYPE A	U	5.00	\$1,500.00	\$7,500.00	\$1,500.00	\$7,500.00	\$0.00
615.0201	TRAFFIC SIGN TYPE B	SF	16.25	\$25.00	\$406.25	\$85.00	\$1,381.25	(\$975.00)
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	291.25	\$185.00	\$53,881.25	\$150.00	\$43,687.50	\$10,193.75
615.023	REMOVING TRAFFIC SIGN TYPE B	U	12.00	\$250.00	\$3,000.00	\$250.00	\$3,000.00	\$0.00
615.0301	TRAFFIC SIGN TYPE C	SF	187.25	\$155.00	\$29,023.75	\$50.00	\$9,362.50	\$19,661.25
615.03201	TRAFFIC SIGN TYPE C, BREAKAWAY MOUNTS	SF	556.75	\$265.00	\$147,538.75	\$150.00	\$83,512.50	\$64,026.25
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	93.00	\$15.00	\$1,395.00	\$25.00	\$2,325.00	(\$930.00)
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	43.00	\$250.00	\$10,750.00	\$500.00	\$21,500.00	(\$10,750.00)
615.04501	TRAFFIC SIGN TYPE AA (GROUND MOUNTED)	SF	2,029.25	\$27.50	\$55,804.38	\$35.00	\$71,023.75	(\$15,219.37)
615.0501	TRAFFIC SIGN TYPE BB	SF	25.00	\$24.00	\$600.00	\$35.00	\$875.00	(\$275.00)
615.0601	TRAFFIC SIGN TYPE CC	SF	288.01	\$15.00	\$4,320.15	\$20.00	\$5,760.20	(\$1,440.05)



43828

X-A005(204)

				A-Bide	der	PS&	ξE	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
615.10301	REMOVING FULL TRAFFIC SIGN STRUCTURE	U	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00
615.30301	REMOVING BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	4.00	\$5,000.00	\$20,000.00	\$4,000.00	\$16,000.00	\$4,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$15,000.00	\$15,000.00	\$7,000.00	\$7,000.00	\$8,000.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	75.00	\$40.00	\$3,000.00	\$8.00	\$600.00	\$2,400.00
692.	MOBILIZATION	U	1.00	\$22,500.00	\$22,500.00	\$7,500.00	\$7,500.00	\$15,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00

Total:

\$477,790.53

\$103,959.08

\$373,831.45